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The test is closed book, with one sheet of notes and standard calculators (no communications) allowed. Show all work. Be
sure to state all assumptions made and check them when possible. The number of points per problem are indicated in
parentheses. Total of 50 points in 3 problems on 3 pages.

1. In the circuit at right, v, is the input and v, i 10401

is the output. C =20 mF. ¢ - %—-? o
(a) Calculate the impulse response. (7) _
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(b) Determine v,(t) for v (t)= 6e™*u(t). (10)
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The test is closed book, with one sheet of notes and standard calculators (no communications) allowed. Show all work. Be

sure to state all assumptions made and check them when possible. The number of points per problem are indicated in
parentheses. Total of 50 points in 3 problems on 3 pages.
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(b) Determine v,(t) for v,(t)= 12¢ " "u(t). (10) 2&{3}\ ( )
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